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Fartlek training was first devised and
adopted by :

(A) USA
(B) Sweden
€ England

D) Switzerland

Speed play is also known as :
(A) weight training

(B) pressure training

(C) fartlek training

D) interval training

The best season of doing Fartlek training

(A) racing season

(B) transition period

(@) competition period

D) off season

Basic principle of Fartlek training is :
(A) variation in space

(B) variation in pace

(@) variation in duration

(D) variation in place

Passive flexibility is due to :
(A) muscular assistant
(B)
(C) increase in strength
(D) neither (a) and (b)
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6. Rotation in Volleyball takes place in : 6. gfeiiet # gOF eRT §

(A) Clock wise (A) Tl B SINGIN
(B) Anticlockwise (B) Ml ad
(C)  Both (A)and (B) (C) &N (A) &R (B)
(D)  Zig-zag direction O)  fF-S R
7. Weight of the Volleyball is : 7. O H AR B D
(A)  260-280 gms (A)  260-280 A
(B)  260-280 oz (B)  260-280 3¥
(C)  280-300 gms (C)  280-300 T
(D)  300-320 gms (D)  300-320 T
8. How many substitute are there in the game 8. bl & O H Th <9 H foha
of Basketball, in one team? feeT & &7
A 4 A 4
B 5 B) 5
C 6 C 6
O 7 O 7
9. Distance of Marathon race is : 9. IRE é‘rs' %l '{{T -
(A)  43.195km (A)  43.195 fpedt
(B)  42.195km (B)  42.195 febmit
C)  41.185km (C)  41.185 fopHt
(D) 40.165 km (D)  40.165 fopedt
10.  What s the width of lines in Athletic? 10.  Toqieed § @ @l e el Bkl
(A) 1.22cm &
A 1228
(B) acm ®) 5k
) 4cm ©) 4 8
D)  7cm O) 7aH
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1. Isometric exercise are generally applied
in such sports as require :
(A) Minimum strength
(B) Partial strength
€ Moderate strength
D) Maximum strength
12. Through which of the following methods do
strength-gains largely come?
(A) Speed training
(B) Partial strength
() Moderate strength
D) Maximum strength
13. From following sports, identify the one
which is known as multi-sprint event :
(A) Badminton
(B) Cricket
€ Soccer
D) Table-tennis
14. Which of the following Athletic events
involves long-term muscular endurance?
(A) Pole vault
(B) Long jump
©) 400m hurdles
D) Marathon race
15. In continuous training while the intensity of
workout is kept comparatively low, the
duration is kept :
(A) The same
(B) Higher
©) Longer
D) Varying
1115-C/120

(3)

1.

12.

13.

14.

15.

SMEAMIeH A STHAR WX A8 Sl &

AN B § el STagde el ©
(A) I AT

(B) i3tk dwhd

(€)  wem g

D)  IeepaH S
e & 9 fpg ffy | afea-am
TeAd: Il Brl oF

(A) T ST

(B) i3k whd

(C) A SO

(D)  offdreRaH STfekT
Frfaied @al § 9 99 ©@d $ 9ea
oy 78 ag-f8ic ge & &7 & S
SR

A SEffes

B)  fbe

C)  TEd

D) o9 <™

frfafed # @ 5 wuafes e H
deeIfers U Heaiea e 87

(A) 99 P&

(B) I %E

(C)  400%=X el A8
O  WRA AT

ﬁr{?rwrﬁrwﬁ'ws@v HET Bl A
Ao &9 ¥ FH @ S 8, STy
W@ o R

A TE @

(B)  J=RK

C) @ T T
D)  uRaaA

[P.T.0.]



16. Speed is not a combination of :
(A) Maximum speed
(B) Explosive strength
€ Repetitions
D) Speed endurance
17. Which of the following is not a lever :
(A)  knife
(B) scissors
€ see-saw
D) bell crank
18. Which of the following type is used in
working of the Nut cracker ?
(A) class 1 lever
(B) class 2 lever
€ class 3 lever
D) none of the above
19. Piler is an example of :
(A) class 3 lever
(B) class 2 lever
©) class 4 lever
D) class 1 lever
20. Interval training is good for :
(A) off season
(B) mid-season
) competition period
D) none of the above
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21. By all means speed is determined factor
in:
(A) precision sports
(B) power sports
©) explosive sports
D) endurance sports
22. Fartlek, which means speed play is an
excellent device of Stimulating?
(A) Muscular strength
(B) Strength endurance
(C) Muscle power
D) Absolute sports
23. When speed of a sprinting Athlete is
constant, his or her velocity or acceleration
is :
(A) Zero
(B) Unpredictable
(@) Unbelievable
D) Impossible to know
24. Aerobic fitness is best achieved through :
(A) Swimming
(B) Circuit training
©) Short sprints
D) Long distance running
25. Active flexibility refers to :
(A) Muscular stretch without assistance
(B) Muscular stretch with assistance
©) Stretching at maximum range
D) None of the above
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26. Which of the following programme does not  26.

prescribe the specific exercise load?

(A) Motor fitness programme

(B) Health related fitness programme

€ Performance related fitness
programme

D) General fitness programme

27.  The greatest benefit of exercise are  27.

achieved only when the body is adequetly
and appropriately :

(A) Warmed up
(B) Worked out
(C) Stimulated
(D) Rested

28. No proper rest is given to the Athlete  28.

between exercise session may get into a
state of chronic fatigue, athletically known

) Over-straining
(B) Overstressing
) Over-tiring
D) Over-training

29. When endurance exercise is discontinued 29

for sometime relatively greater loss is
noticed in :

(A) Muscle strength

(B) Muscle tone

©) Muscular endurance

D) Muscle

30. For a common man fitness is virtually a/an:  30.

(A) Attitude of mind
(B) Sine qua non of good living
©) Physical requirement
(D)

D A matter of interest
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31. The schedule of Interval training are
prepared :
(A) annually
(B) weekly
©) monthly
D) quarterly
32. Who invented the method of Weight
training?
(A) Aristotle
(B) Herbert Spencer
©) Fredrick Yahn
D) Morgan and Adamson
33. Interval training is used for the development
of :
(A) Flexibility
(B) Agility
©) Explosive strength
D) Endurance
34. If the sum of all forces acting on a body is
zero, it may be concluded that the body :
(A) Must be in equilibrium
(B) May be in equilibrium
€ May be in equilibrium provided that
force are concurrent
D) May be in equilibrium provided that
force are parallel
35. When a body is subjected two forces, the
body will be in equilibrium if the two forces
are :
(A) Collinear equal and act in the same
direction
(B) Collinear unequal and opposite
©) Non Collinear equal and opposite
D) Collinear, equal and opposite
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36. Exercise programme become Monotonous
and boring when they carry :
(A) Orinality
(B) Novelty
€ Variety
(D)  Adaptability
37. For developing aerobic endurance, an
excellent activity is :
(A)  Golf
B) Cycling
©) Jungle hike
D) Tennis
38. Training is an Universal Phenomenon and
its aim for an Athlete is :
(A) Through conditioning
(B) Fitness improvement
€ Muscle toining
D) Enhancing performance
39. Strength in all forms, directly related to the
ability of our :
(A) Muscles
(B) Nerves
(C) Limbs
D) Blood vessels
40. When a muscle contracts isometricilly, its :
(A) Length does not changes
(B) Length changes
©) Angle of joint changes
D) Girth manifest changes
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41. ______ Friction is the force of friction
experienced by the body when it is at rest.
(A) Dynamic
(B) Static
(9] Sliding
D) Rolling
2. friction is the force of friction
experience by a body when it is motion.
(A) Dynamic
(B) Sliding
€ Rolling
(D)  Static
43. Height of the antenna in Volleyball is :
(A) 1.80m
(B) 1.60m
©) 1.40m
D) 1.20m
44, Height of the Volleyball net for men is :
(A)  240m
(B)  241m
€  242m
D)  243m
45. Height of the Volleyball net for women is :
(A)  240m
(B)  241m
C  242m
D)  224m
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46.

Isometric is the method in which muscles

length is :
(A) Constant
(B) Shorten
©) Lengthens
D) None of the above
47. An Efficient Coach is he, who :
(A) Tells
(B) Tells and demonstrate
(@) Tells, demonstrate and explain
D) Tells, demonstrate, explain and
inspires
48. What is the weight of the football?
(A) 14-16 0z
(B) 16 to 18 0z
©) 18-20 oz
D) 20-22 oz
49. What is the duration of Football match :
(A)  45-10-45 (min)
(B)  40-10-40 (min)
()  35-10-35(min)
(D)  45-45(min)
50. How many referees are required for the
Football match?
A) 4
| 3
© 2
D) 1
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51. In handball, Players can throw, catch, stop,
push or hit the ball but no player may hold it
for a maximum of :

(A) 7 seconds
(B) 5 seconds
©) 3 seconds
D) Unspecific time

52. In kabaddi match, the opposite of the
raider(player) is technically known as :
(A) Opponent
(B) Defender
©) Anti
D) Receiver

53. In a Kabbadi match, the side that scores a
LONA shall score :

(A) one extra point of LONA
(B) two extra point of LONA
(@) three extra point of LONA
D) no extra point of LONA

4. During a match, each Kabaddi team in each
half, shall be allowed two timeouts of :
(A) 1 minute each
(B) 15 seconds each
€ 30 seconds each
D) One and half minute each

95. At the start of the game in Football is play
only when it :

(A) Is kicked from the center spot

(B) Roll outs from the center circle

(C) Travels the distance of its own
circumference forward

D) Is kicked at least five yard to any
distance
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56. From out of the following sports, name the
one which is initially called Mintonette :
(A) Basketball
(B) Badminton
(C)  Volleyball
D) Baseball
o7. Players may hit the Volleyball with :
(A) hands only
(B) hands and arms
(C) head and chest
(D) Any part of their bodies
58. Going by the rule book, each team consist
of 12 players including up to two :
(A) Captains
(B) Liberos
©) Smashers
D) Boosters
99. In Volleyball each team has three hits in
addition to :
(A) Blocking
(B) Spiking
(@) Placing
D) Diving the ball into the net
60. When the blockers in Volleyball have their
hands over the net, is called :
(A) Roof
(B) Cover
©) Smoke
(D)  Shield
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61. When a Basketball player commits five foul
he must be substituted within :
(A) 10seconds
(B) 20seconds
(9] 30seconds
D) No seconds
62. All free throws in Basketball must be
attempted within :
(A) 10seconds
(B) 7seconds
€ dseconds
D) 3seconds
63. Which of the following Ball situation does
not belong to Cricket?
(A) Wide ball
(B) Held ball
(C) Lost ball
D) No ball
64. As per Cricket rule book, the two sets of
wicket shall be pitched opposite and parallel
to each other at a distance of :
(A) 20yard
(B) 22yard
©) 24yard
D) 26yard
65. In Cricket wasting time is unfair and results
in:
(A) One run loss
(B) One more ball to bowl
) A caution
D) A yellow card warning
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66. The length and width of a standard Basketball
court, according to rules, are :
(A) 26x14m
(B) 28x15m
© 26x15m
D) 30x15m
67. The performance area for floor exercise in
gymnastics, according to rule shall be :
(A) 10mx10m
(B) 12mx12m
€ 15mx15m
D) 16mx16m
68. In women Gymnastics events, rhythmic
exercise performed by an individual
Gymnast last :
(A) 30 to 60 seconds
(B) 40 to 70 seconds
©) 60 to 90 seconds
D) 70 to 100 seconds
69. In men's artistic Gymnastic events, height
of the rings above mat is :
(A) 8 feet
(B) 8 feet 2 inch
©) 8 feet 4 inch
D) 8 feet 6 inch
70. In gymnastics competition, the number of
judges to evaluate routine is :
(A) 1
B) 3
©) 5
D) 7
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7. According to the rules, the width of each
lane in a standard 400m Athletic track must
be invariably :

(A) 1.10
(B) 1.20
© 1.22
D) 1.25

72. From out of the following events identify the
one that is no part of Heptathlon for
women :

(A) 100m sprint

(B) High jump

©) Javelin throw

D) Hundred m hurdles

73. Races beyond what distance are not run in
track lanes?
(A) 200m
(B) 400m
©) 1500m
D) 800m

74. In most events Athletes are allowed to wear
spiked footwear up to :
(A) Seven spikes
(B) Nine spikes
©) Thirteen spikes
D) Eleven spikes

75. While in 200m steeplechase number of
hurdle jumpes is 18 in 3000m steeplechase,
the number is :

(A) 24
(B) 28
©) 32
D) 36
1115-C/120

1.

72.

73.

74.

75.

(17)

el o SFTER A 40091eX Teaifeeh

5% | T0% A B Al fa w9 |
Bl =y
A 110
B)  1.20
C 122
D) 125
frfafad & & S e & T8a $

S Afearelt & fou BwerEd @ fee
T '

(A)  100¥ieX f&ie
B) I B
(C) T B

O) A HexX a1

3 o § el 90 A ot a8 T
T ST 7

(A)  2009ET
(B) 400X
C) 150091
(D) 800X

SRR STESHl § Tl B .......
T I S e il ST B ol
(A) 9T R

B) - R

C) O g

D) WIRE WEH

STeffeh 200H1eX Eiuerersy 1T g5 &l
e 18 %, 3000%eX Wiueray & e
%= M AET ........ g

A 24

B) 28

C 3

D) 36

[P.T.0.]



76. According to Soccer rule book,
players(except the goal keeper) must not
use the following body parts to play the
ball :

(A) The feet (B) The head
©) The chest D) The hands

7. In Football within penalty area, the penalty
spot is marked in front and center of the
midpoint of the goal line at a distance of :
(A) 10yards
(B) 11yards
(C) 12yards
(D) 13yards

78. The soccer goal keeper is not allowed to
control the ball with his hands for more
than :

(A) 10 seconds
(B) 8 seconds
©) 12 seconds
D) 6 seconds

79. When throw is made, all opponent must
stand away from the throw-in-point not less
then :

(A) Ten meters
(B) Six meters
©) Four meters
D) Two meters

80. Which of the following Football tournaments
is officially recognized as the national
championship?

(A) AFA shield Football tournament
(B) DCM Football tournament
(C) Subroto cup
D) Santosh trophy
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81. In kho-kho, the central squares occupied
by the Chasers measure :
(A) 20cmx20cm
(B) 40cmx40cm
(9] 25cmx25¢cm
D) 30cmx35¢cm
82. As per rule book of kho-kho team shall consist
of :
(A) 12 players, a coach, a manager
(B) 15 players, a coach, a manager and
an assistant coach
() A physiologist/doctor, a manager
and 15 players.
D) A coach, a physiotherapy a doctor
a manager and 12 players
83. In lawn tennis, the score deuce signifies?
(A) 0-0
(B) 15-15
©) 30-30
D) 40-40
84. While laying out the court, it is mandatory to
leave a minimum of free space behind back
line and beyond side line measuring :
(A) 18 feet and 10 feet respectively
(B) 16 feet and 8 feet respectively
€ 14 feet and 6 feet respectively
D) 12 feet and 4 feet respectively
85. In Tennis Dink is style in which most balls
are hit very :
(A) Low and soft
(B) Hard and low
) High and hard
D) High and soft
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86. In Volleyball the term used to described
ones team losing the serve is :
(A) Hand out
(B) Point
(C)  Side out
D) Rotation
87. To look at a point or gaze without blinking
ones eyes :
(A) Dhauti
(B)  Neti
(@) Kapalbhati
(D) Trataka
88. There are two main types of Neti kriya :
(A) Jal neti and ghrita neti
(B) Sutra neti and milk neti
©) Jal neti and sutra neti
D) Sutra neti and madhu neti
89. During the practice of which Asana, the spine
tilts backward?
(A) Bhujangasana
(B) Vajrasana
(@) Paschimottanasana
D) Dhanurasana
90. How many times does the Heart beats in
one minutes?
A T2
B) 75
€ 710
O 71
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91. In high jJump competitions with eight or fewer
Athletes, the number of jumpes each jumper
gets is :

(A) 4
B) 6
©) 8
D) 10

92. The length of passing zone in 4x100m relay
eventis :
(A) 30m
B) 25m
©) 20m
D) 15m

93. The number of feathers in a Badminton
shuttle cock should not be less than :
(A) 16
B) 14
©) 12
D) 10

94. Apart from Badminton, the technique called
Flick is also used in :

(A) Tennis
(B) Table tennis
©) Squash
D) Golf

95. According to the rule, the half time interval
in an official Basketball match shall be :
(A) 10min
(B) 20min
) 15min
D) Half an hour
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96. Meaning of Yoga is :
(A)  Add
(B) Substract
€ Multiply
D) None of the above
97. The practice of Shat karmas is advised :
(A) Just before asana
(B) Before Asana and Pranayama
(C) Only before Pranayama
D) After Asana and Pranayama
98. What are the numbers of Sath karmas?
(A) 6
(B) 10
C 7
D) 11
99. What are the main Therapeutic benefits of
Kapalbhati practice?
(A) Removes kapha related disorders
(B) Removes bile related disorders
(@) To remove vata related disorder
D) To remove the disorders related to
vata, pitta
100.  The word Kapalbhati has bhati :
(A) Aura
(B)  Light
©) Kanti
D) All of the above
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.
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